;> restart
| PROBLEMA DINAMICO
> EcuacionArco = Masa-diff (s(t), t$2) =- Hooke"s(t)

2
EcuacionArco = Masa [% s(t)) = -Hooke s(t) €))
t
[ ( 11240 )
. \ 1000 /. — 981, _ _l6 . _ Peso
> Hooke := ( 30 ) ; gravedad : 100 ; Peso : 1000 ; Masa - gravedad ; Largo
100
- SIS e (25
1000 ° 1000
562
Hooke .= ——
ooke T
981
gravedad = 100
Peso = 1;—5
8
M - -
BT 4905
123
L = ==
argo 200
I Aire = % )
> FEcuacionArco
8 & 562
2905 g2 S 775 W )
_> Condiciones = s(0) =- (Largo — Aire), D(s) (0) =0
ST __ 387 _
Condiciones :=5(0) 1000 ,D(s)(0)=0 )

_> Solucionlmpulso = dsolve( { EcuacionArco, Condiciones}); evalf (%, 3)

Solucionlmpulso :=s(t) = - 1308070 cos(i 91887 t)

2
i s(t) =-0.387 cos(152. t) 5)
> Tiempolmpulso := solve(rhs(Solucionlmpulso) =0, t) : evalf (%, 3)
0.0104 (6)

_> VelocidadSalida := subs(t = Tiempolmpulso, rhs(diff (Solucionlmpulso, t))) : evalf (%, 3);
evalf (%%, 3) -3600
1000

58.8
211.6800000 )

[ >
| TIRO PARABOLICO
> EcuacionVertical = diff (y(t), 1$2) =-gravedad

71O\



r
Y

d

> EcuacionHorizontal = diff (x(t), t) = VelocidadSalida-cos( % )

FEcuacionHorizontal .= d x(t) = 387 \ 91887 \/7

981

D ="T00

EcuacionVertical =

i de 7 4000
> CondicionesVerticales := y(0) =2,D(y) (0) = VelocidadSalida-sin( % )
CondicionesVerticales == y(0) =2, D(y) (0) = % 91887 2

> CondicionesHorizontales == x(0) =3
CondicionesHorizontales .= x(0) =3

> SolucionVertical :== dsolve( { EcuacionVertical, CondicionesVerticales}) : evalf (%, 3)
y(t)=-4.90 £ + 413t +2.

> SolucionHorizontal = dsolve( { EcuacionHorizontal, CondicionesHorizontales}) : evalf (%, 3)
x(t) =41.5¢+ 3.

> TiempoVuelo = solve(rhs(SolucionVertical) =0, t) : evalf (%, 3)
-0.07, 8.49

> DistanciaMaxima = subs(t= TiempoVuelo,, rhs(SolucionHorizontal ) ) cevalf (%, 3)
355.

> TiempoAlturaMaxima = solve(rhs(diff (SolucionVertical, t)) =0, t) : evalf (%, 3)
421

> AlturaMaxima = subs(t = TiempoAlturaMaxima, rhs(SolucionVertical)) : evalf (%, 3)
89.7
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